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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer any ten of the following questions
as directed: 1x10=10

PR woTe Wl eitaRT o1t Rizpizan weby e
Teq feora 8

(i) Central excise duty is levied and
collected by !
(Fill in the blank with
appropriate word/words)
(I IR 39 BRI BRI S iy
sl (C*13& *fa7gq AN 3% 979 791)
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()

(iii)

()

(v)

(vi)

The Assam VAT Act, 2003 came int’
effect from 1%t day of May, 2005.
(State whether the statement is true or false)

S VAT Sli2, 2003 S 94 27, 2005
59 sifEE o eifsT @)
(et &% o 9% Gogrdl 1)

One of the objectives of the Customs Act,
1962 is to protect the domestic industries.
(State whether the statement is true or false)

B W2, 19627 96! Traey T (e R
GRS 5 1 |

(Cfehr % o o5 el 1)
GST has removed the effect of taxes.

(Fill in the blank with
appropriate word/words)

GST-9 T AR SR FRT |
(Co13& 2177 ey 1% o479 F9)

A person without GST registration can
collect tax.

(State whether the statement is true or false)
GST-3 S /& 72l o 2 o1 2815
FRI AN | (Cl&th! &% (7 wom G 1)

Indirect taxes are imposed on
and services.

(Fill in the blank with
appropriate word/words)
— NI} ORIN @919 41 <1 27 |

(3@ s <ty 513 999 79)

T ]
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(vii) Customs duty is levied on the
manufacture of excisable goods in India.
(State whether the statement is true or false)
TR TIBI] FIC TEI TAMAT 89iF0
o 39 41 =90 27|

(Cfeth! wa o sum G 1)

(viii) area means the area of a custom
station.

(Fill in the blank with
appropriate word/words)
[T 912 (2R 51 B (B ST |
(GoR[e =727 <1 12 %39 7)

(ix) GST was introduced in India with effect
0 1 ot
(Fill in the blank with appropriate word/
words)

SIESEEIS) 3 79 GST &7 391 27 |
(T3 =973 <ifer 12 799 F91)

(x) GSTIN is a unique 10-digit number.
(State whether the statement is true or false)
GSTIN T« b1 w2 MRS S+l 754 |

&% (7 S GlEyY )

(xi) Customs duty is levied by the
Government of India.

(State whether the statement is true or false)
JE UF ©ITS 5I0IT 21 41 1 = |
(Sfecht wg (7 oo G 7))

(xi) France was the first country to
implement GST in the year :
(Fillin the blank with the appropriate year)
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@
TN @ R@__ 590 LA GST
BTN R |
(Tofge T AN 512 2459 7))

(xiii) The name of the first Chairperson of the

GST Council was :
(Fill in the blank with
appropriate word/words)

GST AT AATe T ameife |

(C713@ 7T N 31T %79 70)

(xiv) GST network is a non-government
organization.

(State whether the statement is true or false)

GST network 95! (53319 &Sl |
(Ol w% (o T e 731)
(xv) GST has been projected as ‘One Nation,
One Tax’.
(State whether the statement is true or false)
GST-S ‘qF A, 9% 39, NS Birst eirmst 71

= (fethl o7 @ aom Tos )
2. Answer any five of the following questions :
2x5= 10

TS 31l PRI 2191 RmIzaTt SHisht b e il ¢
() What is input tax credit ?
Input tax credit & z7?
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(i) Explain the meaning of ‘aggregate
turnover’ under GST laws.
GST W24 ST TS R -7 it 3t |

(iii) What is dual GST model ?
7% GST wIfE &2

(iv) What is the meaning of ‘territorial
waters’ under Customs Law ?
IO Sz TG TAG AT 9 2w e

(v) Explain the term ‘manufacturer’ under
Central Excise Act.
@ TIPS erd LTS TAME 75!
T <4

(vi) What is ‘countervailing duty’ under the
Customs Act ?
B Sz SIS FooEet o [T 2o

(vii) What is the meaning of indirect tax ?
ST 399 9 5 22

(viii) Mention any two salient features of GST
network ?
GST network-=< Rzl 75! 24 taf&iey e
Sl

3. Answer any four questions : S5x4=00

Rizizan bifqG! 2His Tes fova ¢

(i) Explain the meaning of ‘baggage’ \ynder
Customs Law.

mw oo ‘baggage’:@ 1ef i<y 74 |
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(it)

(iti)

(iv)

(v)

(vi)

(vii)

Briefly explain any five advantages of
registration under GST laws.

GST SIi&q ST “ifgae <19 [ =por
R T /It 34 |

Briefly explain any five salient features
of GST.

GST-3 Ricica =is01 24 tafiey FLeawee! It
Bl

Explain the procedure of registration
under the Central Excise Act.

I SR OiETT ST #ifGa +9E 1w e
RIS

State any five objectives of enactment
of the Customs Act, 1962.

T WA, 1962 &ifF 9/ [P Aol
S |

Briefly explain any five features of
indirect taxes.

&S 591 Rl #Ai50! (@ 53 D0 < |
Write a short note on the GST Council
and its constitution.

GST <8 =19 319 519719 8+ 53] (Gl el |

(viii) Write a brief note on the threshold limits

for registration under GST.

GST-1 SFe Afgmae AR 2ifEF T eoTe
B3 (Gt foT2 |
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4.. Answer any four of the following questions:

10x4=40

weTe WAl YIRS = Remzan bifa6/9 e fo12 3

(@)

(b)

(c)
(@)

Explain the eligibility and conditions for
availing input tax credit under GST.
5+5=10
GST- 9I§W® input tax credit-3 Jfa4
TS5 T AN 9IS S G 1T 4 |
Write a comprehensive note on the
persons who are not liable for
registration under the Goods and Service
Tax Act.
R 71 UG T8 W= (R F9 T2 T i
T A TR TR (DSTARR G217 I (B sl |
Describe the history of indirect taxes in India.
SIS AT F99 20T 0 1 |
Write a note on the concepts and general
principles of Value Added Tax.
I RS F99 (760l S=e A4 TR
@9FS (Ol ferl |
Briefly describe the history of Central
Excise Law in India.

SIS (U SIS SN2 2102 5P 3901 1 |

()  Write brief notes on the following terms
under Central Excise Act : 5+5=10
SEARAC EEIS AR ESEACKISIGAC G S LR S IRE
R vy ot fovall
(a) Manufacture
TesAm
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(b) Place of removal

AT BN
(g) Explain the provisions of the Customs
Act, 1962 regarding grant of exemptions
from custom duty.

IS SIEA, 1962-7 WO T ST~/
RS ewie T RdeTR i 5 |

(h) Briefly explain the following terms under
the Customs Act, 1962 : o+5=10

T ie, 1962%@%—71—%%@
B I 41 2
(a) Safeguard Duty
TH GF
(b) Anti-Dumping Duty
GFo-uifie wm
(i) Briefly describe the history of Goods and
Services Tax in India,
SRS T OI% (GRI F9 o2 53 I
40|

() Explain the meaning of composition
scheme under GST What are the
conditions for opti \position
scheme ? : ot 5+5=10

GST= ST TN 4 S ol 51

9 | AN @R wfe wAfeme s
reorE [ T ame

4 (Sem-6/CBCS) HC 2 (ITL)/G 8 10000



